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“You are so strange!”

Another use of kakon

2 conjugation: V+V truncation and
consonant mutation

The Infinitive

- Forming the Infinitive

- Uses

Jnanaor
Kakas Tbl cTpaHHas! You are so strange!

Jléna 1 | Kakoii Te1 ienniBblii! Thl Bech JeHb CHANIID U You are so lazy! You sit and watch TV all day.
2 | cMOTpHIIIb TETEBU30DP.

éra 3 |Hy unuto? Cmxy, CMOTpPIO TelneBU30p. S aw00a10 | So what? I'm sitting and watching TV. 1 like to
4 | cHIETh U CMOTPETH TEJIEBU30pP. A UTO HANO sit and watch TV. So what should (1) do?
5 | ménare?

Jléna 6 | He 3HA0. 3aHUMATBCS, padOTaTh, YNTATH, I don’t know. (You ought to) study, work, read,
7 | ror6BuUTH 00€1. cook (prepare) dinner.

éra: 8 | Ho ThI 3HACIIIB, YTO 51 OUEHB IIOXO TOTOBIIO. A Tl | But you know that I can’t cook (= I cook very
9 |uTo nénaenis? poorly). And what are you doing?

Jléna 10 | A? A raaxy oproku. S OueHb JIFOOIIO TIIATUTh Me? I'mironing (my) pants. I really like to
11 | OprokH. iron pants.

IIérn 12 | a, s Bisky. Kaxas Tb! cTpanHasn! Yes, I see (that). You are so strange!

CiaoBapnb

1 | IeHUBEIHA lazy

1 | BECh ICHB all day (Learn this as a fixed phrase for now.)

1 | cumé+ sit; be in a sitting position (as opposed to sitting down)

3 | o6+ like, love

4 | HAMO (one; you) has to; ought to; must

6 |3aHUMAIL+...CH study (We’ll discuss the ...cs later on.) This verb means spend time studying,
(reading, doing homework, etc.) and never takes a direct object like ytn):ﬁ does

7 | roroBu+ prepare; make, cook

7 | 00éxn dinner

8 |HO but, however

10 | rmagu+ iron

10 | Oproku pants (always plural)

12 | BAOE+ see

12 | CTpAHHBIH strange

19-1




19-11 ypok

FpammaTuka

19.A  Another Use of Kakon

Kakowm Tbl NeHnBbIN (1); Kakasa Tbl cTpaHHas! (12)

In addition to the uses illustrated in Lesson 15, kakéii is used to constructions such as You are so [adjective]! He

is such a [Noun}! The structure is shown below. Note that both kaxéii and the adjective agree in gender and

number with the PERSON (the subject). If you add another noun after the adjective, kak6ii and the adjective will

agree with the NOUN. (Lit: How kind he is — the difference between this and Takoit)

KAKOM PERSON + ADJECTIVE (& NOUN)
Kaxkoi OH TOOPBIi! He is so kind!
| agreemelt Ivith person |
Kaxkas Mama CTpaHHas! Masha is so strange!
| agreement with person
Kaxkne OTHF JICHUBBIC! They are so lazy!
agreement with person
Kaxkoi Ounsra OTJIMYHBIN BP?‘{! Olga is such an excellent doctor!
agreement with noun

g@ Make comments about people according to the prompt:

Example: Bonons (kind) [0

1. 1o1 (F) (kind)

4. BwI (attractive)

7. = (kind person)
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Kaxou Bonoos 00opwiii!

2. oH (old)

5. Huna (smart: YMHBII)

8. omu (bad student)

3. onu (lazy)

6. TI'¢éna (excellent student

CTYIEHT)

9. sl (good students)




Grammar Lesson 19

Some consonants in a verb stem cannot take the shock of seeing their vowel neighbor to the right
unceremoniously lopped off by the vowel from the ending. Being paired up with the 1* person ending -{U} just
adds insult to injury and the stem consonant MUTATES into another consonant.

1. Add the si-form Present Tense ending -{U} to
the verb stem. (Because of the ¥+ V
combination that results, vowel truncation
occurs as expected):

Hey, stem vowel, oTBsbxiice! You're
no longer needed. I’m the head
vowel in charge now!

minet {U}

2. The consonant that is now at the end
of the stem undergoes mutation:

Oh, the agony! E and I were so
close. I can’t take this. I’'m
mutating. What a world! Ahhhhh!!!

suat+ {U}

Biwk+ {U} - Biky

This mutation occurs only in the s-form. When any other ending is added, no such mutation occurs:

Yo, stem
vowel,
scram!

~\
B+ {|}ub /{A}T

Hey {I}, {A}, you’re not so
bad. I think I'1l stick around.

Bua+ {l}me /{A}T - BUAUIIb, BUIAT

English also has consonant mutation, but we don’t normally represent it in spelling. If you say ‘did you’ at
normal conversational speed, most likely it comes out ‘didja,” where [d] mutates to [j]. The same sort of thing
happens with ‘got you!,” which can even be spelled ‘gotcha!’ ([t] mutates to [ch]). English also has [d] = [zh]
mutation in pairs like decide = decision, collide = collision, etc.
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19-11 ypok FpammaTuka

Here are the mutations we’ve seen so far:

MUTATION 2" con??,X Pp;'le\:/;le)ll;tE 1.sg only Remljigiﬁ/nggI{:E:lﬁNfense
Buang+{U} 2> BIKY BUIMUIID ... BUIAT
o> X cung+{U} 2> CcHXy CHIHAIID ... CUIAT
rmamyf+{U} 2>  THaxy TN ... THATAT

For consonants that are formed with the lips (known as the Labials), instead of changing into a different
consonant, an J° is added before the s-form ending is attached. So far we’re seen the following stems with labial
mutations:

06 > O o6 +{U} > 10010 JTOOUIIE ... TFOOAT

B = BII rotopf+{U} >  rorosimo TOTOBHIIb ... TOTOBAT

We'll see two more labial consonants (M and m) fairly soon.

Question: Why didn’t we see consonant mutation last lesson with nexg+{U} and
cmotpg+{U}? Don’t these consonants mutate?

Answer: Not every consonant CAN mutate. The consonants p and it don’t mutate. As
for 7Ka-Ka verbs, the final stem consonant ALREADY is mutated, and once
you mutate, you don’t feel like doing it again.

NON-MUTATING EXAMPLE:
CONSONANTS 2"” CONJ., ALL OF PRES. TNS.

ropop+{U}¢ >  rosopio (as well as rOBOPHIIIE ... TOBOPSAT)
P - doesn’t mutate . ) ) )
cmotpg+{U} >  cmotpio (as well as cMOTPHUIIIB ... CMOTPSAT)

U - doesn’t mutate crosi+{U} >  crow (as well as cTouis ... CTOST)

nexg +{U} >  nexy (as well as TEKAID ... JEXKAT)
X - already mutated N
nepxg+ +{U} > nepxky (as well as népxuIib ... 1é€pxar)

Y - already mutated yujf+{U} >  yuy (as well as yuuuib ... y4ar)

Listen and repeat. There are several new verbs, but they work exactly like similar verbs you

know:
Example: JIOBH+ (catch) [ A 106710, Mbl 08U, OH JIO8UM, Mbl I06UM, 8bl I06UMe, OHU J1065M
BUJIE+ [] 5 8UHCY, Mbl BUOUUL, OH BUOUM, Mbl BUOUM, 8bl 8UOUME, OHU BUOAM
1. rordBu+ 2. napn+ (give a giff) 3. nmomyui+ (receive) 4. Buge+
5. oouae+ (offend) 6. HenaBuge+ (hate) 7. Tpabu+ (rob) 8. kpuua+ (vell)
9. Bomi+ (lead) 10. octaBu+ (leave) 11. mépu+ measure 12. 3Bonu+ (phone)

H doesn’t mutate!

]
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Grammar Lesson 19

g@ Chameleon:

Example: Uro ... nénaii+ (Mama, onn, Kypi+) [1Ymo 0énaem Mdwa?, Gmo onti 0énaiom?, Onii kypsim.

Start with roréBu+ 00€éx

1. om 2. o 3. MbI 4. rianu+ OproKH 5. Mama

6. TBHI 7. oHH 8. mbli+ BUHO 9. s 10. MBI

11. BBI 12. T'éna 13. TBI 14. cuné+ va nuBage 15. Huna

16. a1 17. MBI 18. BCé BHANE+ 19. oun 20. a1

21. TBI 22. cTosi+ Ha 23. Ons 24. a1 25. TBI
OankoOHE

26. oHHA 27. yuii+ pycckumii 28. 1 29. BB 30. Mos cecTpa
SI3BIK

19.B  The Infinitive
pabdTtaTb; cMaéTh; roToBUTL

19.B.1 Forming the Infinitive

The most common Infinitive ending is -Tb.

This ending, along with the Past Tense endings (-1, -s1a, -j10, -14), begin in a consonant, so let’s see how to add a
consonant ending to a verb stem:

Taking what we’ve seen with the Present Tense, where V+C combines harmoniously, while VAV causes havoc,
we can now make a more general statement about attaching endings to stem:

Opposites Attract (and combine harmoniously), Likes Repel (leading to truncation — and possible mutation)

OPPOSITES ATTRACT: C+V, V+C LIKES REPEL: ¥+V, €+C
(and combine peacefully) (leading to truncation — and possibly mutation)

Vowel endings (e.g., nouns and adjective endings, Present Tense verb endings)

gurai+{U}T gwuraror xup+{U}T KUBYT cung +{U} CIKY
oprok+{l} Oproku Oankon+{E}  GankoOne oG +{U} 06T
Ham+{A} HAIIa Bam+{O} BamIe nexd +{1}t JEeKET
nenvB+{I}if  mem¥BBI  cpémH’+{A}a cpénHssa yujt+{AlT yuar

Consonant endings (e.g., Infinitive ending —mv. We’ll discuss the Past Tense shortly)

TrOBOpPU+Th  TOBOPHUTH MOHUMAji+ Th MMOHUMATH
cuné+ Th CUIETH quTajt+ Th YUTATH
JIEXKA+ Th JIEXKATD JKUB+ Th JKUTh

X I . . .
Kypu+ Thb KYPUTH (no stress shift in the Infinitive)

19-5




19-11 ypok FpammaTuka

? : Question: What about the Infinitive for ma+" go ? Is it ute? How about nbii+"? What
[ could the Infinitive of that verb be?

|
|
Answer: You know, you ask a lot of questions. No, the Infinitive of the stem ma+ is not |
uTh, but that’s a good guess, it’s mari. (Don’t ask; just memorize it for now). |
The Infinitive of verb types like nbii+" and moii+" are also forms we don’t |
expect. We won'’t tell you what they are right now. We’ll keep you in i
suspense until the next lesson. !

19.B.3 Uses of the Infinitive

Infinitives are normally translated as to talk, to understand, etc., and generally appear in the same environment as
they would in English:

S 1061110 eMOTPETH TEIIEBHU30D. 1 like to watch TV.

Hano 3anuMarbest. (You) have to study / (You) must study*

*Note that when the word must is used, you lose the fo in English: You must study. This isn’t an issue in Russian,
where the Infinitive is a single word.

@ Form an Infinitive as in the example

Example: yuraitr ] A w060 wumdmo
1. ToBopH+ 2. CMOTpé+ TEJIEBU30D 3. roTOBH+ 4. Tnagu+ OprOKH
5. cma+ (sleep) 6. yqﬁ+ pyccKkue cloBa 7. paboTaii+ 8. nénaii+ pmomamiHee
3aaHue
9. nexa+ Ha TUBAHE 10. crosi+ 11. kypi+ 12. urpaii+ (play)
13. umraii+ 14. neraii+ (fly) 15. rynsiii+ (stroll) 16. coymaii+ pamuo
g@ Chameleon (Keep the Present Tense of no6it as a constant):
Example: Mara 1fo0UT YUTATh (TOTOBH+, ) H Mawa mo0bum 2omosums; A 1106110 20mosums
Start with: Mima J00uT KypATh.
1. = 2. BH 3. nénaii+ momMaiHee 4. MbI
3aaHue
5. Bans 6. Mou Oparbs 7. rnaan+ Oproku 8. =
9. wMou cécTpsl 10. cMOTPE + TeneBH30p 11. on 12. s
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19-1 ypok JomaluHee 3agaHue

2S Exercise 1 Fillin this verb table:

BHICH TIOGH+ roTOBU+ nepKa+
Infin.
a
ThI
Kéus
MBI
BbI
OHH

&S Exercise 2 Fill in this verb table:

’ ) ’ ) X
AyMau+ IJIBIB+ MMOMHU+ JJOBHU+

Infin.

ThI

Kénsa

MBI

BbI

OHH
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19-1 ypok JomaluHee 3agaHue

< Exercise 3 List 3 things you like or don’t like to do. Then list 3 things that a sibling or parent
likes or doesn'’t like to do. Do not use the verbs drink, sing, dance — they each
have a nasty infinitive form.

Example: S 1r06IT¥0 TOBOPUTH MO-PYCCKHU.
Moit mndammii 6pat He JIFOOUT 3aHUMATHCA.
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